What problem are we trying to solve?

Too many death investigations are flawed
* There is no investigation
* The investigation is incomplete

* The conclusions of the investigation are incorrect
* The cause of death is incorrect
* The manner of death is incorrect



HETERoGeN EETTY



* ~3300 jails (adult)
* ~600 jails (youth)
* 51 prison systems (adult)

* 50 prison systems (youth)
« ~25ICE
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Aviation Safety Reporting System
(ASRS)

Administered by NASA

 Reports re experts
* Alerts to FAA, al ACK for pilots
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